SuMPO EPD
FLTNBEEE (EPD)
E#RES © JR-AI-26041E

SuMPO

EPD

AAAAA

VERIFIED

SUMPOIRIESANIVTOT 5 s
—MRAEEFEATRAT TR EHEEAE
RREBFRHEXAHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

EPSON

ABRFIAY PRAFVF—

BEELA
Hml1aHih
BEN RERE
LE=iSi] COFRfER4

[RAA R REER B . AEEE R, TR
EIREPE. R - UDA IV ERE

BERPE, (A - HEES

SHEOBN, FEGHR-FET
B : DS-61000WN

FE4H

B J5y My RET T RIS~ ERD (ADF{ E)
mtESR2A

B AT RE (A4HE) HFES0M/4> ME100mE/5>
BEAREYAX : 297.1x3,556mm
mSTEAHRE | R AFREE 600x600dpi
mXFv>H ¢ CIS

XABMRE, EKAMEFTT,
XAERE, EPDICEEDZELBERELHLTHY
ERRE DHAICIIWeb 1 MM EERERL TS,
FLWEbhiEk
T11-I1V kA&
REEHFTAN=T B3&ESS

BREES

A3 Document Scanner

DS-61000WN

(For North America)

ERES JR-AI-26041E
EAPCRES  PA-590000-Al-08
PCR% BR A DR
NES]S 2026%6H 1H
RIALEMEA  202655822A
REEA R VATLFEEA R
RIEES EIR-25-005
RIEEHAM 2031458218

PCRLE1-DETE
REBZE 20234 978 18
ZER #mlF Ex
— A EIEAT AT IR E HEEAE
E=EHRIE"

HNEPREEE  —REEEABARREBERIEE R 5%

ISO14025(C e RE E R UT -5 D3RI LR EE

CRER WA B
*YATLARIEZ - EEENORTIOEAE, VATLARIATLEEED
ZEERH.

https://www.epson.jp/contact/

0266-52-3131

Z5H&ES © JR-AI-26041E



PaPREVAG % it TS

SuMPO EPD
F1TIBRIREE

(EPD)

SUMPORIESNILTOT S s
—ALEEAY AT IR E HEE RS
R T AEXAHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label jp

RGN | SRR | RSN 1Eg§% P
[IRZE - &5t kg-COzeq 1.07E+02 1.62E+01 1.01E+01 2.77E+00 1.55E+01
SUREH - LaEsE™! kg-CO2eq 1.07E+02 1.62E+01 9.86E+00 2.76E+00 1.28E+01
SUREE) - k™’ kg-COzeq 1.63E-01 1.33E-02 1.15E-03 1.19E-03 2.65E+00
SEEE) - THRARORE? kg-CO2eq 8.53E-02 4.00E-03 2.06E-01 1.04E-02 6.04E-03
AV B kg-CFC-11eq|  7.51E-06 2.64E-08 1.31E-07 3.82E-09 9.18E-08
EREL kg-PO4*-eq 4 47E-03 9.22E-07 3.00E-07 2.80E-07 1.10E-05
{2 kg-SO.eq 1.09E-01 1.36E-01 1.51E-02 1.67E-02 2.24E-02
KALZAFIT R kg-C-Haeq 2.08E-03 5.80E-06 4.25E-04 1.67E-06 7.10E-05

BIATYIVDIMTHA TS EEIE

SEEMEIFS - i | kg-Sbeq | 7.80E-02 | 1.26E-06 | 1.14E-05 231E-05 6.67E-06

X1 1 AEBZ31S021930:2017 TREIN B[ T THA VA YRY NS ESEIER-FEEME B BREL RKOEEE, CO20HH BELUMER O EE TR TERAINZBERREIRILY R
SOEEYMOIABEICLZHEEE (Emissions from combustion of waste from renewable source used in producuion processes) |, RU4£#E TR TERAINZBERATREAEIGENSDBEEY O

BEICEBHEE  (Emissions from combustion of waste from non-renewable sources used in production processes) |O#EREEHET
2 1 AEE(Z31S021930:2017 TRESN B[ T THA VA YRY NS EIEIER - EME R BIEL RKOEBE, CO20HHBESSUBRER IO MAR-2ZRROEYRFRFEHEICE
EIEMESLUHEH (Removals and rmissions associated with biogenic carbon content of the biobased product) | RUTAAIAR-Z/XvT-I ) DEYFTRK R EH BICBET IR ESLUHE
H (Removals and emissions associated with biogenic carbon content of the biobased packaging) |DfEREEHET

X3 1 ARIEA(CF1S021930:2017 CRESNS [ 51 THA VA YRY MU ESEIER-F £ M E R RMEL RO HEE.

land use change) |OfEREEHET

. CO2D B BELUMRE R | Ol £ #A AN SOHEE (Emissions from

S1T917IWA IRV U B IRESEE R

—REROFEAICEET 2E1E
8| =M . ==y EFH'H %
FAEERE | NSEE | RS Eg BEmE
'3
BAARE—XRER - IxIF- (RPRy) M) 2.50E+02 6.06E+01 2.18E+01 3.78E+01 1.21E+01
BAAE—RER - ITRE-2BHE (RPRy) M) 6.23E+00 2.07E-03 4.57E-04 4.07E-04 2.95E-03
FEBETEE—REE - TRILF¥- (NRPRp) M) 1.61E+03 1.77E+02 1.52E+02 2.02E+02 6.48E+01
A —REE - TRLE-SBME (NRPRy) M) 3.08E+02 1.73E-01 2.69E-02 3.09E-02 7.53E-02
ZREROFERICEET3E1E
sl = —— . R - MR
ERERERRE | RUISERRE T R B o BREEERRS
23
ZRMA M) 4.02E+00 6.62E-03 2.86E-03 5.21E-03 1.98E-03
BARREZ R M) 1.08E+00 1.33E-02 2.87E-04 4.52E-03 1.28E-02
FEBEERBE R MJ 1.27E+00 0.00E+00 7.24E-04 0.00E+00 1.08E-01
RAKDHEE M) 9.32E-01 2.26E-09 1.14E-01 4.85E-10 6.34E-02
IEEYMER-LRREL RKDBEEBE. CO20EHEESLUKBREE
| S 3 oy FH i %
BERIFERRR | SUNSERRE I R B 2 EQ[;? BEEEER RS
WZRIEHE
EEME R B- LB M) 1.78E+03 1.93E+02 1.36E+02 3.96E+01 5.09E+01
KKDHEHES m? 1.05E+00 8.53E-03 1.12E-03 1.12E-03 2.83E-03
BREYREER
. . . fEFR - HEFF
BERERERR | SRR I B B s BRZEERE
EEREY) kg 3.98E+00 6.00E-02 1.31E-02 8.10E-03 1.12E+01
BNV RS BEEY) m 1.43E-09 2.89E-12 1.34E-10 5.46E-10 7.43E-11
PEBIELRIV S EEY m 5.98E-07 1.21E-09 5.60E-08 2.28E-07 3.11E-08




BERRICET ZEMIER

‘B ROtRAITE ek
ERBBEOETEARK (YFUA) X
- 1HZEWE : 64%/H (8AFv/H)
-1 BORENREK - 20H/A8
- 1EOFRE B - 2408
- REEFAAA : 5F
- FAETENIER : 76,8001% (9,600AFvY) /54
XERBRBEOEFEE IOV, I-V-OREAFHLCANEELTORGTYFUARRE L, R - HIFEERE LB LR B,
BT LOMNRICEED R,

ZOft DI EIER

OEBRIINF-AY-T0J 5 LVer3 208 E&HRLTVET,
O@RJHROHSIERICEALTWET,

Bd = (CRIT 34 ERALEZ=RT-IDEZXS
HE-mE (EBEY) B IDEA v3.4.1 BLUSUMPOBRIEINIL SOI S LB SFIRE IV 165 EALTVET,

EER G 7.493 kg

SuUs (A7YLR) 0.225 kg
FIVIZUA 0.002 kg
Z0MERE 1.690 kg
TI3RAFYY 7613 kg
myA 0.052 kg

A3 1436 kg

- A 0.004 kg
REEFEER 0.272 kg
Z0ft 1.110 kg

OT-THEDH XL, PCRESVETE - EERBESRBL TS,
OLLEOVWTE BEE - EERBCREINLRAGEFLLIEEBICLARHONIEA,
(BHREURL : https://ecoleaf-label jp/regulation/)



